


HC

30,000

26,000

14,000

105,ooo

14,000

zoo0

4,000

¶lG.l51n1

159 / 1445

159 / 1 4 8

159 / 1 5 0

159 / 1 5 3

159 / 1 5 7

159 / 14d

159 / 148

159 / 150

159 / 157

HC/CD

32,230

27,560

14,549

111,311

15J47

2J49

4,240

HC dst5m HCICD

diUquulu:-

i%J#ili!i  36

3lMl 37 :-

h5u1a  1

~~srallff  2

la5amf  3

Ic4lsaJm  4

6.000 159 / 146 6334

2%~ 159 / 148 30.081

2zooo 159 / 1 5 0 23,320
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HC ds"Ym-ll HC/CD

i?Uf%?i  36 20,ooo 159/145 21,931

ihal 37 cim!M 1591152

hUpJlU
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2

= 185,500

fi1dmJr1n1 = 185,500 x 5%

= 9,275
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M

M

136,000

33,ooo

26,000

15,ooo

l%,OOo

(49.fw  *

66,ooo

= 419,700 - 116,550 - 187,145 = 116,005
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